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PART 1 (2 marks eact))

For each qu estion, four options are given. Due ui them is the correct answer,
Make your choice (1, 2, 3 or 4). Shade the correct oval (I, 2, X or 4) on the
Optical Answer Sheet.

1. In which of the following is the digit 2 in the thousands place?
1§} 27510 3) 10129
2) 12100 4 5211

20 A8%53=d8x [T ] +48%3

The ruissing number in the box 18

)y 53 3) 48
2) 50 4) ]
3. Find the multiples of 6 which are betweean 30 and 60
1) 36, 42, 43, 54 n 3734, 4, 44
2) 33,3945 54 4 18,284,736, 42
4. Which diagram below shows that less (har 1 of the fizure i shaded?
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Find the product of © 582 and 7 and then tound it off to the nearest hundred.

1) 67 174 ' 32) 67074
2) 87100 4y 67000

The table below shows the prices of different fypes of cakessold 1 a bakery.
Use the information to answer Q11 and Qi2.

Cakes - Pandan Chocolate Cheese ) B P-mi:
Cost £2.50 ! S3.00 $4 32 S50

,_‘
()

Mother bought 2 Pandan cakes and a Foat cake.

She paid altogether. _
1) $15.70 ’ 3) $9.10
2) $11.60 4 g$s.00

She wanted to buy 3 chocolate cakes and 2 cheese cakes but shae had §7.

She needed | . _more. .
1) $17.60 ' 3) $10.60
2) $11.90 EN 280
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ST and RC are straight lings £RCT 15 2 nght angic.

ZACRis ¢
1 75 3) 35°
2) 60° T 40°
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The figure below 1w now drawn to seale, AB is paraliel to
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Study the number pattem below,

22125,22 210, 22 145, 22 230, 22 165,22 250,

2
[\
3

The missing numberis

1) 22165 ) 22315
2) 22185 4 22335

Johnry spent S of his savings on a jacket. The jacket cost 824,

He had at first.

364
§192

1) 38 3)
2) $18 4)

Which one of the following rectangles has the biggest penimeter 7

1) ' “ 3

f - .
' CArea=9%8 m* Avea = S0 m”
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5
2) Areca =110 m?
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Avea =100 m?
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Jane bought 34.38 cm of string to make 9 pisces of nhber The lengts

piece of nbhonis

Cin.
1) 382 B 03
2) 382 4y 0082
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PARY 2
Section A (2 roarks cach )

Wryite your auswers jn tha spaces provided. All workiog miust be clearly shown,
Give your answer in the units stated,

1. Themmltiplesof  are 24, 30, 36, 42

......
N

Ans:

2. Rownd off the product of 2472 and 12 to the neavest hundeed,

Ans:

3. Arrange the idllnwiog Factionsw descending oxder.
30,1 § 8
p— 1 —— r— .
Aq R 3 R
Ans:_ .




In the diagram below, RT is a straight line. | ZRSQ = 48"
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Express 3 hundreds, 4 tens, 5 tenths and 6 hundredths m decimals.

Axrs:

Express the value of the digtt *8” 1n 100.53 as a frachion 1 ws simplest fonm

649 + 11 = + 50

Ang:
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8. There ate 468 bexes of surawhermes at the Supermmarket. in each box, there are 33
strawberes. How meny strawberries are there altogether?

Ans:

Q. The population of Heartland estate was 7698, When 400 prople moved to another
estate, the poputalionbecame ¢ . Round off the figure to the nearest
thounsand.

Ang
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il Express 4 hours ag a faction of one day. Give your answwer in its simpiest formu

Ans:
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Given that ABCTD is 2 recianple. Find < BDA,
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Thé graph shows the number of Visitors to the Science Centre over 5 days.
Study the graph below and answer the Q12 and Q13.
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12. The total nunmiber of visitors on Tuesday aud Friday was

Ans: .
. 13, On which day were there twice as many visiiors as on Wednesday ©
Ans:

14. In the figure shown, ABCD and DEFG arc rectangies. Thetr areas vre 60 em®
.and 28 em? respectively. Find the area of the shaded purt. The figure is not drawn

1o scale.
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Frnd the vatas of 408 » ¥

Ans:

16.

2 2

The sur of two neimbars 13 815, Wone of the numbers 1s £, what is the
product of the two numbers 7 '

Ans:

17,

Lindaboughr 18 packets of wonden shicks. There were 2 $ 4 wooden sticks in
each packet, She Hrew awayv 36 of them and repacked the vast into 9 nackets.

How rmany woodan stivks were there in each new packet?
Ans: o
’ N 1
18 Amyhad $285. She spent -» of it ou a gown and —of the remainder fna bag,
How muck: had she jeft 7
Ans:S ]




19. In the diagram below, ED is perpeadicular to

I
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Ans,_

T the figure below, theo'area of the shaded part 1s 76 m? Fuad the iength of AB.
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Name e O Dat: .
Pomary 4

- Section B (4 marks each }
Al working and statemenienust be clzariy shown

«

Mrs. Ting bonght 2 cupbrards and 2 chairs from a funuture shiop. The cost of & cuphoard

and a chairis § 246, How wuch inust she pay ?

22.

The total length of ¥ stmifar reds and 3 strings of equaf lenpth 1s 4 302 om. Each stiing js
twice as Jong as 2 tad. Fiod the length of each rod.

Ans




23.

Py

.

YR ] .
Helen collected 2 bag of beads. T of the beads were purple, i of the remainder were yellow
£

*

and the rest were 42 red beads. How many beads did she collect altogether 7

24,

N

Ans:

Miss Loo bought 30.05 m of cloth. After sewing 2 curtains and 4 cushion-covers, sha
had 9.65 m of cloth left. Each curtain requited 2.2 m of cloth. How many metres of cloty

did she vse for each cushior-cover ?
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The figure below represents a plat of Jand. ABCD i< a rectangleand DEFG is ¢ square
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What 15 the perisneter of the plot of land ?

b o N PR T R : N
Iflwio L Rrass costs $25, how much will it cost to patch up the piot
of Tand with grase ? -
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SINGAPORE CHINESE GIRLS SCHOOL

CONTINUAL ASSESSMENT 2, 2004

PRIMARY & MATHEMATICS Wt
1) 2 Part IT
2) 2 1) 6
3) 1 2) 2900
&) 4 3) 8/4, 1 148, 374, S/8
5) 3 4) 132
6) 1 5) 340.56
7) 2 6) 4/5
8) 1 7) 9
2) 1 8) 15444
10) 2 9) 7000
11) 2 10) 1/6
12) 3I 11) 21
T 13) 3 12) 460 visifors
14) 4 13) Monday
15) 3 14) 10
16) 2 15) 28.56
17) 2 16) 7256
18) 3 17) 5064
19) 4 18) 95
20) 1 19) ED i EB
20) 13
21) § &o2
22) 478 cm
23) 70 beads
24) Loy
25) a) 36 n b) & 41725



